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RETEST EXAMINATION> /&
N st
Semester : 2nd (New) =
Subject Code : Sc-202
MATHEMATICS-II
Full Marks — 70
Time — Three hours

The ﬁgixres in the margin indicate full marks
for the questions.

Instruction :

1. Questions on both PART-A and PART-B are
compulsory.

L

PART - A

Marks — 25
1. Fill in the blanks : 1x10=10
(a) The length of the latus rectum of the parabola

y?= 10x is

(b) The direction cosines of the z-axis are
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e} Ahe npiiomof b yeokin ity w..wiw;_.m is (b) The dot product of two vectors is also known

as vector product.

i i the
=3 sir i ¢) The distance of the point P(X, ¥> 2) from
v (d) Iff(x) =3 sinx — 4sin’x, then £(§) = ©) e
5 L
(e) lim x93 : g d) fx) = 4x—x* is an odd function.
x—3 X=3 BIFSRRREE M i

: (e) The function given by :
d
® mm@%q.lwxuv i

fx) = % x <3
>, ® J@x + b + ox + d) dx = is continuous at X = 3. _ e
af,\ ~ : ; i
i q 3 - "
0 [198% ax = p if fi = () (1) () (1), Bt
£ ©) =1 ;
oyl et e . imum value at
(i) ._._ Oﬂm =) d : .,m, ,.3 b Amu £(x) aux x? has the maxim
: o e
(i) Area of the region between the curves y? = 4x () |seex dx = log |sec x * tan x| =G
and X =3is : .
¢ F8 s e
2. Write true or false : "o @ | 16 dx = £ ax
5 m.axu + 16y? — 8x + 16y + 5 = 0 represents a 2
circle. 6 .‘.c 5 S o2
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3. Choose the correct answer : 1x5=5 295
(a) Eccentricity of the ellipse is .Mw.+|o|u_ is e
i o (ii) oo
. L. 5 m s .
@) 3 (ii) T : | (iii) 10 (iv) 5
dx .
(e) 3 S
i) 3 i) 5 J l+x
(i) tan'x (ii) sin”'x
(b) The co-ordinates of any point on the circle
X2 + y2 = 4 are (iii) cos™'x (iv) cot™'x
(i) (cosa, sinar) _ PART - B
Marks — 45

(i) (4 cosa, 4 sina) /S /

._ 4. (a) Find the equation of the circle passing through
the points (0, -3), (1,-2) and (5, -8). 3

~(b) Find the co-ordinates of the foci, the length
of major axis and minor axis of the ellipse

sas

(iii) (2 cosal, 2 sina)

(iv) (- cosa, — sina)

d . 9 79
(© ——(sinx*) = X 9 _
dx T + 9 3
: y % L :
) % i (H): 2% ginx (c) Show that the points (2, 3, 4), (-1, -2, 1),
. (i) 2x CcosX (iv) 2x cos (2x) . (5, 8, 7) are collinear. 3

(If @=1+3j-2K and b=~ +3K, find [ixb|
| 3
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R wca = sin X, g(x) = cos X, show that {g(x)}*

—{f(x)}* = 2(2x).
(b) Find the limit : (any wo)
2

; X“+x-12
NS X" +x-12
@ Mlvau x—-3

x-1

. m 2
(i) u_lvzw VX — H+a\x+~

D) B 3x* - 2x%+1
55 X xa+mxu+_

VAR A
. A
(c) Examine the continuity of f(x) at x = oh. \
<4 if fix) =x-1; x>0 |

Ev F Ea AEQ. three)

(i) mm__:n + cosy = 1
(i) x = cosO + Osin@, y =
(iii) y = sin*x + cos®x
(iv)y= o_m +2x + 3)°
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3
3x2=6

/‘*o_\:_ﬂ‘? fm [
¥
t

/.
&

3x3=9

sind — Bcosd

6. (a) Integrate: (any three) : 3x3=9
@) a 2 V1+x3 dx
Gi) [xsinx dx

(i) nﬁm +2x+1) dx

2 sec? x g
iv R TR
) ._. 0 J+tan’x
Bl s x B el
(b) Evaluate : ,_. : Y dx 3
9 /\oomx+z\mm:x :
Or

‘mmwa the area bounded by the curve y = sin x, the
x-axis and the ordinates at x = 0 and x = &t
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